1

TRINITY GLASS

NTERNATIONAL

30X 68
FLUSH GLAZED FIBERGLASS

SINGLE DOOR WITH SIDELITES (BOXED)

INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & Ré609 and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject o the
following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

drawing.
4. Conditions not covered by this drawing are subject to further engineering
analysis.
TABLE OF CONTENTS
SHEET# | DESCRIPTION
1 Typical elevations, design pressures & general notes
2 Door panel construction details & glazing details
3 Sidelite panel construction details & glazing details
4 Horizontal cross sections
5 Vertical cross sections
6 Vertical cross sections
7 Frame anchoring
8 Components
9 Bill of materials & components

68.5" MAX. O.A. FRAME WIDTH
15.5" MAX. 37.5" MAX.
FRAME WIDTH FRAME WIDTH
/ / /
a4 Vi 4
/ //
=
T
>
: @, X ol O
:: o
&
=
/ / /
7 ‘ v
/ 4 /
/
L S ) o tevensysSousmns se ||

SINGLE WITH BOXED SIDELITES

INSWING

68.50" x 81.88" G1, G2

+55.0

-55.0

OUTSWING

&G3

68.50" x 80.75"

+55.0

-55.0

Refer to Table (sheet 4) for Passage Lock Rating Limitations

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

Documents Prepared By
'% BUILDING CONSULTANTS, INC.
WF'.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

TRINITY GLASS INT'L
68 FLUSH GLAZED
PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

LFS
BY

REVISIONS

7/27/09 |TDI PRODUCT EVALUATION UPDATE| AL
6/28/06 |REVISED LOCKSET NOMENCILATURE | EW

2/03/20 |UPDATE TO 2018 IBC/IRC

1

NO| DATE

M|

DATE: 8,/29/05

SCALE:  N.T.S.

DWG. BY: WH

CHK. BY: LFS

DRAWING NO.:
TX—-4037

SHEET 1 oF 9

R:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR 181\C - Drawings\DR-181 2018 IBC\TX-4037.dwg, TX-4037

© 2009 R.W. BUILDING CONSULTANTS INC.



"ON| SILNVLINSNOJ 9NIg1ing "‘Mm's 6002 @

zG8LL—4 # NOLLVALSIOFY 40 ILVOIJILNID SNOISIAIY
SY3INIONI IVNOISS340¥d 40 Q¥vos SYX3l mw\m\%@ Hom@mwvwgwmm«%.ﬁ«\%m A8 31vd |ON| 9_
PR ——— M3 | JYNLVIONIWON 13SHO0T 03SIA3Y¥| 90/82/9 | L |Q 1ES i i
S6SEE ™4 OOWIDA 0SZ Xog ‘O'd \S.@. ATBN3ISSY ¥0 Ldvd | v | 31vadn NOLLYNTIVAT 10NAodd 1a1| 60/2z2/L | 2 || = =1 2 &
oMl EIRVETENGS BNIEINE S41 0dl/281 810z 0l 3ivadn| oz/to/z] ¢ || = N 2_
a3zv19 HSN4 8,9 o |55l X
SZLPOL# "I'd SVYX3AL d..:/: SSV19 ALINIYL wilY |« = m
‘I°'d ‘IPIWYOS 4 uopui :Ag pedpdedd sjuswnooQq 110NAa0yd W w W w w W_
— AN
u ‘l__cm-_.l" _-mmc—l' = =
= = . o =
= * ] E — Ll I o o
(@] o . w «
et] Q — c = m
i ® | NoR T
0 =
| X = i S
— L'l 7 f | @
— —~— /70 - W01 .-

INTERIOR
LVL
RAIL

wrsasi,

P 1IA0) |

—
7“2\ VERTICAL CROSS SECTION

(274
®)
[a"4
= Ow
X v“ -
w RS,
o
g o 2 3 W
3 L i & v 2 ) O
°c= 2 = 2 g o
M Wy» 5 w v o L L
T & (=71 ) O £
o — = M “ = M > < >
% < g £ o ¥ Hg o A
O ¢ o - < =0 E 3 m 03
= | o < =0 < =0
& B g
o —_
z o //
5 1
«» =
ON s S 4
> g A 3
i T ® - =
K / LU N CHLTRTTIT H_N (L)
W M rI4II - hm\\hhn.-,\»\““ m
@ m (L] L \\\\ =
M ——— 3 e <
¥ T % @ = 3
“ ¢ Sl O
s | 3
2 0 a
< &
- = o 3) a
O Sz, 2 =
~ T ~a % =
O F oS x 035
a <=0 =0
(%) O
9 =
o] oy
& E = /4 () (+) i
£ 5 = * ) = - Nl N A )
[EN] i N < m X 7
S ) -~ .59 5 “e
m * o™ ﬁNU it m ﬁ..V®.
N | =3 = 3 8191
AN g 2 _
s ® ¥ ® 2
g o E
a w0
o~
mv W05°S /'—\,A WSCOL'EE —

(o o/

v >

35.75" MAX.
PANEL WIDTH

[ ] -56" ——

D
FLUSH GLAZED DOOR

BZAl

:N.V.O == =
= ® L A
[~ ‘O TA 'XYW.E9 _

- S —=—

1]
|t————

T PVC STILE CAP
TOP RAIL
/
Va
/

2""
MAX.D.L.O

IHOEFH ANV XYW .52 6.

2 'Bmp'LE0p-X1\08I 810Z L8L-¥d\sBuimelq - D\LBL ¥@\su] 4o 1daq sexa) - \LNINVINYId S5e|D AutiL\siuald\y



*ON| SLNVLINSNOJ aNIaing "'m's enooz @

ZS8LL—d4 # NOLVMLSIORN 40 ILVOI4IMIO SNOISIATY
SYIINIONT IVNOISSAA0¥d 40 Q¥VOE SYXal zw%w&mﬁmw@mﬁmzw d m&ﬂ%%m A8 31vd [ON| | . - 9_
R ——— : M3 | IYNLVIONINON 13SHO01 03SIA3Y| 90/82/9 | | |Q| N ey 7 N}
S6SEE 14 OOMIDA 0£Z X8 ‘O'd \§ ATENISSY d0 L¥vd | v | 31v¥adn NOWYNIYAI 10naodd 1dl] eo/zz/¢t ] z | o= =1 g|°
‘oNI “SINVIINENOS SNITIING @. S47 2d1/08l 810z 01 3lvadn| oz/c0/z| € ﬁ =z g | 3_

a4zv19 HSN14 8,9 © HlEle &

CZLPOL# "I'd SvX3IL 4..&7: SSVI19 ALINIML i _..M_ 6| = m
‘I'd PIWYDS 4 UopuAil] :Ag pedpdeld sjuswnooQq 10NAaodd w g W % W &

INTERIOR

wrassi_ 57

T
PN

EXTERIOR

m VERTICAL CROSS SECTION

TOP RAIL

~—1.56" ——

:ON. _. - :QN. _. i

- —_monp ==

<—‘] 56" ——
@ BOTTOM RAIL

— 0.78"

I

EXTERIOR
INTERIOR
HORIZONTAL CROSS SECTION

@ SIDELITE STILE

(1N
\3/

=
w
Q
7}
. i :D..
an il < N. O X @ 3
o
5
=
b S
- ‘O 1A 'XYW..00€9
“E G
= = m m LIHOIFH TINVd XYW .ST 6L
5E K
@ = <
2< b

€ 'BMpLE0P-X1\Dg1 8102 L8L-Ya\sBuimelq - D\L8L ¥a\su| jo 3daq sexa - G\LNINVINYId Sse|9 Anun\siuald\y



R:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR 181\C - Drawings\DR-181 2018 IBC\TX-4037.dwg, 4

NOTE:

Sidelite ass'y fastener: 6" from each end
and 4 more screws equally spaced
between (6 screws total per jamb).

/
q
2V 3V 4
5 A5 A5
0.15"
@ C'SINK
@{ (TYP.)
SEE x 12 7
NOTE 1 \ [ INTERIOR
| N
:\\\ _
/ !
@ EXTERIOR

24
18

)

/"1 "\ HORIZONTAL CROSS SECTION

W Outswing shown
Inswing also approved

0.15"
CSINK —— |=—
(TYP.)

//

N

~

/1

WA TIIY,

AN
ST oy

it} ?

I
el

X
Tel

ALY
OF

A\,
N
318, OF,
AN

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

e@

7“2\ HORIZONTAL CROSS SECTION

Z. .f: .:ﬁ S e R POS’T’VE :
LOCK: 740 21 "
+
KIWIKSEL DEADBOLT: 780 22 53.0 §
~ &
LOCK: COMBO 660 | 21 S i
KWIKSET +55. -55. AN %
> DEADBOLT: COMBO 660 | 22 55.0 35.0 P
LOCK:  MAX.SECURITY | 21 S (5] 2
HLAGE +55. -55. v |zl &
SCHLAG DEADBOLT: MAX. SECURITY | 22 55.0 55.0 = 3|
2o |8 2
= Fo e 8
S o| &
5 gl 2
& &
@ L2|E%
S-D DRYWALL e
E : ) / alR
0
S8 v
o532
1117117777, @ i(—) % E (Z
o X >
N|=|G| W
INTERIOR ol3[S] |®
* ® ||| |6
p
(o]
ANTERE R R LR R ’ : % e DE:
NN 0994% / \\\ olo|o
VL F0E N QQ L)
X R " " R—" —" - —" g& ﬁ }_<l—:
- — S —— S —— kké ()]
@ SEE S
NOTE 1 @ eI A £
EXTERIOR SEE EXT. SHEATHING  [owre: 8,/29,/05
NOTE 1 ScAlE:  N.T.S.
DWG. BY: WH
CHK. BY: LFS
/~3"\ HORIZONTAL CROSS SECTION DRAWING 0.
TX—4037

W Outswing shown
Inswing also approved

W Outswing shown
Inswing also approved

SHEET 4 oF 9

© 2009 R.W. BUILDING CONSULTANTS INC.



‘ON| SLNVLINSNOD 9NIa1ing "My 6002 Q

2S8LL—d4 # NOLLVMLSIOZY 40 3LvOldILy3D 5 SNOISIATFY
SYIANIONT TYNOISSIH0¥d 40 Q¥vo8 SvXaL 31vad [ON
SNOILO3S SS0HO TVIILY3IA vl (o)}
T rT— : M3 | 3YNLVIONIWON L3SH001 G3SIA3d[ 90/82/9 | L | Q| Y3 < 2| B r_‘
S6SEE "4 OOUIDA 0£Z Xo8 O'd \_\w@. ATBW3SSV 80 18vd [ v [3Ivadn NOWYATAI 1ondodd iai|eo/zz/z [ |57 (=], 9| &
“ONI ‘SINVLINSNOO ONIaTINg sS4 0dl/081 810z 0l 31vadn| oz/to/z] ¢ || = 21 57
d3Zv19 HSNI4 8,9 Vo) AL x
SZLPOL# "3'd Svxal TANI SSY19 ALINIGL MEIMNE [
‘3'd ‘PIWYDS ‘4 uopuk :Ag peJpdeudd sjuswnooq :19Na0yd W m W m m M
o> \w 2

[NN]
1
&) L
3 2 :
O Q O
= 0 % z
O
(=) = 0
= =
o O =)o o
o = S
& | 2
= R 9l _
< S|o o a8
Q3 Q ot
G|E = Gl2
l.w ﬂ .Lm
o|2 = NIE
~ .”.w P n.m
&2 E
>0 >|E
™~
o —
o
(a4
: Tt
L oc
=
Z

WOOD
CONCRETE

NI
B

/DRYWALL

7

1._:.:,1_.,21..;2..:"

)

12
INTERIOR
INTERIOR

\

«

/"1 "\ VERTICAL CROSS SECTION

\y Outswing shown
Inswing also approved

7“3\ VERTICAL CROSS SECTION

\\5/ Outswing configuration

EXTERIOR

EXTERIOR

EXT. SHEATHING \

S 'BmpLE0y-X1\Dgl 8L0Z L8L-4Q\sBuimelq - D\L8L Y@\sul Jo 3daq sexa) - B\LNINVINYId Sse|D ANutL\suaiD\y



EXT. SHEATHING \'

SEE if
NOTE 1

62

EXTERIOR

INTERIOR

7“1\ VERTICAL CROSS SECTION

\é/ Outswing shown
Inswing also approved

EXTERIOR

)

INTERIOR

NOTE 1

T

7“3\ VERTICAL CROSS SECTION

w Outswing configuration

NOTE:

Screws thru head and sill
jamb located 3" from each
end and on center line.

WOOD
P ) CONCRETE

EXTERIOR INTERIOR

/4
@ SEE
NOTE 1

WOOD
CONCRETE

7“2\ VERTICAL CROSS SECTION
\U Outswing configuration

INTERIOR W EXTERIOR

NO?EEIK~

WOOD

CONCRETE

Q)
®

/4 \ VERTICAL CROSS SECTION
\\6/ Inswing configuration

o

S%e OF 7

b
~

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

(9p]
5
—] =
o
] 5
ZN o0
m5 “
T |>
oY |3 8
= (&)
| =
fadragil
= wnl <
Zo |9 §
L Ee |9 R
o~ |y &
= o W
= =
2 <
a o
o=
LI<|W|m
e
p )
EH
S|1S
olz|2
thsl
SEIS| n
m(D[= =
o> =
gl B
2nlHE |2
o X >
N= (O |y
Ogo o
=al~
Ola
] [ [
<[ ¥
Dls(z
S|2|a
olo|w
N|O O
NN
QN R
(@]
)
NN
mle|=|2
DATE: 8,/29,/05
SCALE: N.T.S.
DWG. BY: WH
CHK. BY: LFS
DRAWING NO.:
TX—4037

SHEET 6 oF 9

R:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR 181\C - Drawings\DR-181 2018 IBC\TX-4037.dwg, 6

© 2009 R.W. BUILDING CONSULTANTS INC.



"ON| SINVLINSNOJ 9NIa1ing "Mm's 6002 @

ZS8LL—4 # NOLVALSIOFN 40 ILVOLILNIO SNOISIATY
SYIANIONI TYNOISSIH0¥d 40 Q¥vo8 SvX3L A4 J1vad [ON
ONIHOHONY INVHH v . (o))
L6L6'6S8°CL #ON Suoyd : M3 | FYNIVIONIWON L3SHO0T a3SIAIY| 90/82/9 | L m 0 ”Wn ol s r’
S6SES 14 OOMIDA OEZ Xo8 ‘0'd \N\wg “NIBN3SSY_¥0 18Vd [ v [3Ivadn NOWYAAI 1ondodd iaileo/zz/z | 2 |||~ (2. S| &
“ONI ‘SINVLINSNOO ONIGTING S41 0¥l/081 810z 0L 3ivadn| 0z/0/z | ¢ || = 2 | 7_
a3zvio HSN14 8,9 @ Slsle X
SZLHOL#F ‘3'd Svxal TAINI SSYI19 ALINISL glal 1512 &
‘3'd ‘PlWYds *4 uopukq :Ag petpdeud sjuewnooq :10NAaodd W m m M m M
£y ! <
»m 3o ?w/\.ll.(
rf& 30 3™ [eO9] i) &
Teca ™ P l f =
~ \ \ > 3
® a,
4
oL
S
< <
~0 0
l'l‘ _‘I :m.m @
Q
=
B C-o S
L] L] E 2
A =
[ <
= _ / \\ \ =
= K A ) 1““ Q
(@ jo |\ L
[ ] o m
11 T

_ (dAL) (dAlL) 'D°0 2
J XYW, <E
7 9 XYW .71 j @M < m

_ _ ~ _ _ _

|

¢
*-l‘j- r—»— 6" (TYP.)
|
FTT

L
T i
o
— [a)
Eg o 9 25
e - QO O = &=
~ = @ = Ola
< = (=) =2
o€ P w9
< =5
-

!

T

(\

Ny
.,(

\
HINGE DETAIL 1

2X FRAMING/ -
7]
poor | _
\\
N\
[ ]
/
e

2X FRAMING TO BE DESIGNED

BY THE ENGINEER OR ARCHITECT

OF RECORD BASED ON WIND LOADS

AND THE CLADDING BEING USED.
FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 PSl)
WOOD (5.G. >= 0.42)

-]

=

: s

... ... ... ﬁ

I I T IT I T N

\‘.... ..../\l... m
ﬂ . _A|.nE.o.oL

L8 XYW L€

SEE HINGE
DETAIL 1
SEE
HINGE
DETAIL 2

L 'BmpL0p-X1\081 8102 L8L-¥a\sBuimeq - D\LgL ¥a\su 4o 3daq sexaL - B\LNINVINYId Sse|D Anuui\siuald\y



"ON| SINVLINSNOJ 9aNIging "'Mm's 6002 @

2S8LL—d # NOLLVLSIOZY 40 ILvOIdILN3IO g SNOISIAZY 3Iva TON
SYUIINIONT TVNOISS34038d 40 QivOo8 SvX3L 0| . (o))
e —— SININOMOD M3 | F¥NLYIONIWON L3SM001 a3SIA3¥| 90/82/9 | | N W m 3 r_
sesce 14 oauieA oz xog ‘o'd /] "AI8W3SSY_¥0 Ldvd | Tv [31vddn NOWYAIvAI 10Nd0¥d 101] 60/22/4 | Z | | = QS
SNl *SINVITNSNGD SNIGTINE Wm. S41 0dI/281 810z ol 31vadn| oz/s0/z ] ¢ | = B g 1 8A
03zv19 HSN4 8,9 o [H]Ele &
CZIbOL# T'd SwXAL TANI SSYIO ALNIEL wlSle| |2 &
‘3'd IPlWYDS *4 uopuk] :Ag peJpdesd sjuswnoo(q 1109N00Yd SI21E3 W &
02 -4 <
\U & :Om._. ]A‘l'l‘
; , .-~ o
D .o- o.-.“x \
B b’
,\M‘WL. eveses omgN-.Ponu:P ........ X f:s“ :
g AINHOS o AT \
.v.a .............
._n..y m w - O
& nlu W 0 —
'p x© = E4u
4nN~ V.: & mo
40 3% &G
:...ﬁ.?ﬁ/f.?r <3 i
@ 0n M O
o~
W9L0
17 1 s
<
o pi|
&8s
» 58
%O
52 o
N =z
&G -
33 3
R ~
o
(o]
——.GL0" |=—
— (]
-]
3
S
Q
= & 3
” |,— __Nm._. —‘I m m
= (%) (<]
Nel L w _— (< 4 Qg E
L g g S S £
& & 5 . ®
o o wl @ z E Q = =
N SE = 800 € m ~ 5
(=) a3 ) 82 S 3
800 3O k 3= Q -
© L7 ® ® ®
R . _ JL€0
—  W£LEl |
007 |
9
= Q o
-
P 1lo o 3 :
2 2 a5
5 © ol ., : H
- o = = o|°
%o = - O - Z|E
- & = b = < Sk
O 5 2 g5
N = [elf=
| S— 1

8 'BmpLE0p-X1\D8I 8102 L8L-¥a\sbBumeiq - D\L8L ya\sul 4o 3daq sexa] - \LNINVINYId SSe|D AUt 1\sIualD\yY



R:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR 181\C - Drawings\DR-181 2018 IBC\TX-4037.dwg, 9

uj
o8
88, B
£5 g US
we S 4s ML
§§ 32 32
sk BEIg g2
30 fig
20 S0
> 8 N. EO
m o o E
b 2 é z 5y
5 g.2 _©°
BILL OF MATERIALS g 5¢ E %w
ITEM| DESCRIPTION MATERIAL |ITEM| DESCRIPTION MATERIAL : § 8§
A | 2X HEADER FRAMING SG >=0.42 WOOD 26 | #9 X 1"PFH WS STEEL t E
B | 2X FRAMING SG >=0.42 WOOD 27 | OUTSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM./ COMP. 5 @§ 53
G | MAX. 1/4" SHIM SPACE WOQOD 30 | LATCH STILE - SG >=0.42 LVL/PVC 3
J | #10X3"PFH WS STEEL 31 | LVLLOCK BLOCK POPLAR
K | #9 X 2" PFH WS STEEL 32 | HINGE STILE - SG >=0.42 LVL/PVC
P |3/16"X 2-3/4"ELCO OR ITW PFH CONCRETE SCREW STEEL 33 | TOP RAIL - POPLAR LVL & WPC COMBINATION POPLAR/WPC o
2 | STRIKE JAMB - FINGER-JOINT PINE - SG >= 0.42 WOQOD 34 | BOTTOM RAIL - POPLAR LVL & WPC COMBINATION POPLAR/WPC EE Q;Q
3 | HINGE JAMB - FINGER-JOINT PINE - SG >= 0.42 WOOD 35 | LITE FRAME PC/ASA ;é E?_]E
4 | HEAD - FINGER-JOINT PINE - SG >= 0.42 WOOD 36 | GLAZING COMPOUND SILICONE %)I 5 §§
5 | INSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUMINUM 39 | FIBERGLASS SKIN 0.079" MIN. THICKNESS FIBERGLASS ©y c;n’ W g
6 | DOOR BOTTOM SWEEP PVC 40 | #8 X 1-1/8" SELF THREADING SCREW STEEL %ﬁ 5 30
7 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS - 41 | POLYPROPYLENE & PYC COMBINATION GLAZING SPACER POLY. . P::{'g 2 U:JMB
8 |#6X1-1/4 PFH DRYWALL SCREW STEEL 42 | ALUMINUM & BUTYL SPACER SYSTEM ALUM./BUTYL § &
9 | #9 X2-1/4" PFH WOOD SCREW STEEL 43 | PVC & ALUMINUM SPACER SYSTEM PVC/ ALUM. § e
12 | WEATHER STRIP QEBD650 Q-LON - 60 | SIDELITE SPACER - OUTSWING PVC o &
18 |3.983" X 4.0" HINGE MIN 0.098" THICK STEEL 61 | SIDELITE SPACER - INSWING PVC 0l2(zbs
19 | SILLKEY PC/ASA 62 | QUARTER ROUND WOOD = x @
21 | LOCK (SEE LOCK & DEADBOLT RATINGS CHART) STEEL 63 | #8 X 2-1/4" PFH SCREW STEEL E %J
22 | DEADBOLT (SEE LOCK & DEADBOLT RATINGS CHART) STEEL 64 | #8 X 2" PFH SCREW STEEL g '5
23 | STRIKE PLATE STEEL 65 | #10 X 2" PFH SCREW STEEL Qlz 2
23A | DEADBOLT PLATE STEEL 66 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS - Sg Lg’ o
24 | #9 X 5/8" PFH WS STEEL 70 | LVL SIDELITE STILE POPLAR @Q|3|Z %
25 | OUTSWING HIGH-DAM THRESHOLD ALUMINUM W/ COMPQOSITE SUBSTRATE ALUM./ COMP. | 71 |LVL SIDELITE TOP RAIL POPLAR 0 % E %)
72 | LVL SIDELITE BOTTOM RAIL POPLAR 3 b é g
CONCRETE ANCHOR NOTES: = § -
1. Concrete anchor locations at the corners may be adjusted to maintain the min. B & @
edge distance to mortar joints. S|= o
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to Slele
maintain the min. edge distance to mortar joints, additional concrete anchors SRS
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. Qb NE
3. Concrete anchor table: Sl |N|<
- NN
[ ANCHOR M S
. ZE - |EMBEDMENT i e I =
IT\.’rvAE,lgg); 5 1/4" 1-3/4" 2" 4" scale:  N.T.S.
ELCO . . i " DWG. BY: WH
ULTRACON 1/4 1-3/4 1 4 cHk. B:  LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO-
TX—4037

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

SHEET 9 oF 9

© 2009 R.W. BUILDING CONSULTANTS INC.



